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چه تعداد از عبارت هاي زیر صحیح است؟ - 13
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57

ABA − B

1234

S = (1, 7) − [4, 6]

A = {x ∈ Z| ∈ N}
+ 4x2

x2
B = {x ∈ N |−4 < x ≤ 4}

C = {x ∈ Z |x ∈ (0, 3) ∪ (5, 7)}D

20743

1371016

U = {1, 2, 3, 4, 5}A = {1, 2, 4}B = {1, 3}C = {1}∪A′ B′

C ′∩ CA′(B − C)′(A − C)′

A = [−3, 1]B = (−2, 2]C = [0, 3)A − (B ∩ C)

[−3, 0)[0, 2][0, 1][−3, 0]

ABBB10A4

A

14610

(A − (A − B)) ∪ (A ∩ B)′

AB′∪A
′

B′{ }

A ∪ (B − A)

∪A
′

B′− BA
′−B′ A

′−A
′

B′

2

ی دهم
ض

ریا
آموزشگاه آبادگران

abadgaranedu.ir


